_
)

7
7

///////////// N
.

w
Yy

4
_

.

TOLERANGE (mm)

(KS B 04120

=)

6 05t

+0.05

6~30

+0.1

30 ~ 120

+0.15

120 ~ 315

+0.2

300 ~ 1000

+0.3

1000 ~ 2000

.

NO REVISION RECORD DATE CHK. APPR.
X0)
& ¢
/ N w AF2EAFRH(A)] It2 W (mm) X A2 L (mm) X S T (mm) % L=3 =
/////,,%’ CEPUED
£ /,/@’? M2.5 X 6 M3 X 8
2 ///////////W////////// © - 15mm =
/?////////////l % 15%10x4(96.5x94.2) . %
2 o \
////////////J/ (—— 19mm ” . 7@
x9.5%5(86.5x$4.2) h=1} %E
03 \
15,19,20,25mm 20mm
20x10x4(06.5x94.2) M4 X 10 M6 X 15
o5 04
mm 25x10x4(96.5x94.2) * BAIHCEE
B 0H
W
P
/// ///////////// | AF2EARRH(TH) b2 W (mm) X M2 L (mm) X S T (mm) / (2ABxH3E)
////////-//////// @ + @ . of 02 03 04
//////jﬁjﬁ/////// | 40mm | 40x10x4(96.5x04.2) | 40x12x4(#6.5x94.2) |40x20x10($12.5x$6.5)|40x25x10(912.5x96.5)
2, | Z - : :
) P=16 P=16 P=20 P=20
////////////;I | |
DR
— L APt AR |5 01 ——— =285
40mm CKSC rpm 15x10x4 (86.5x04.2)—+—— ALKl AFOI =
\
Note ¢ BAIHZIZE S 00 CHE ALOI=
1. ST : 28 X2 (25~50MGOe)
: Working Temperature <80°C
D AHBHE0| 2510l LIZE SRR (S 8 X) ::> C KSC— 1 5m m —O 1
2. 9o : DIOUIEIIC/HER WE o
caJe 27| =9 FINISH MATERIAL UNIT mm NO.|  DESCRIPTION DWG. NO | QTY | REMARK
CEHENRLY XA LA T2 e Neodymium APP. DWG. NO. - V1.0
DR WA F2 £ - - DWG.| 2019,09.05 | 4% | PART NAME
= N . Qry 1N ASS'Y NAME
3. 8 :3IE0AT FIE AFMOIE/XIIZH S A(MRI)
CAIHY HISE/RD] W™ /EII2E/2 ¢E))| 1 Ea/ser @QAHardware AB MODEL NO. AF2E AL A4

+0.5






